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SODIUM THIOSULFATE,0.025N,4LITRE W2276

IODINE SOLUTION  .025N    1L W2283

Starch Solution, 4L W2121

Run Number: Constant: 16000

Parameter: SUPERVISOR REVIEW BY:

Analysis Method: ANALYST:

Analytical Summary Report

Normality1:

Normality2:

9034

LB94360

Sulfide

0.025

0.025

KETANKUMAR

apatel

T1 - T2 

Diff (mL)

Value 

Corrected 

With Blank

Initial 

Volume 

(mL)

1 PB107907BL 50 14:0204/02/20180.004.864.860.005.00501 0.000.14

2 PB107907BS 50 14:0504/02/201820.002.362.360.005.0050125 2.502.64

3 J2133-07 50 14:0804/02/20180.964.744.740.005.00501 0.120.26

4 J2133-08 50 14:1204/02/20182.244.584.580.005.00501 0.280.42

5 J2133-09 50 14:1504/02/20180.804.764.760.005.00501 0.100.24

6 J2173-01 50 14:1804/02/201836.165.345.340.0010.00501 4.524.66

7 J2173-01DUP 50 14:2204/02/201836.325.325.320.0010.00501 4.544.68

8 J2173-01MS 50 14:2504/02/201876.480.300.300.0010.0050125 9.569.70

9 J2173-01MSD 50 14:2804/02/201876.320.320.620.3010.0050125 9.549.68

10 J2173-02 50 14:3204/02/20186.564.044.040.005.00501 0.820.96

11 J2173-03 50 14:3504/02/20188.963.747.784.045.00501 1.121.26
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T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1
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12 J2173-04 50 14:3804/02/20187.683.903.900.005.00501 0.961.10

13 J2173-05 50 14:4204/02/20188.483.807.703.905.00501 1.061.20

Page 2 of 2

T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1


